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SN BA(SA) - MRAY - BES 0l &t o il HImEET
GOt ZH A& 8,680 10,080 A 1,400
< 4,340
Al 4,340
402 2I2H X201 M 8,680 10,080 A 1,400
< 4,340
Al 4,340
02 2IZE 2 A EZ(OI XM TH ) 8,680 10,080 A 1,400
OGOF2 = & XH XI & (30,0000H )
17,360,000& *50% 8,680
< 4,340
Al 4,340
=3 3sXE 25 52 N27
< 7
Al 18
307 21201 A 25 52 AT
< 7
Al 18
02 It S AHE L 25 52 AN2T
OR*>EE =3 XA (412 /20kg) 25,000& 25
< 7
Al 18
sgel AS3N 518,206 413,319 104,887
= 87,811
< 147,036
Al 283,359
sE4E2 ZEX K& 40,000 40,000 0
402 RI2HX=0| M 40,000 40,000 0
01 2IZEHEAE B (KM ) 40,000 40,000 0
OssSatg I XN (7THES,158)
40,000,000& 40,000
LSS 27,000 24,000 3,000
301 gt d= 13,000 10,000 3,000
1MIIEBESS 13,000 10,000 3,000
O=2&sJt MEXHA(4=01)
20,0003 *1,000H x50% 10,000
OME2 ASZ2 WY (20 S) 3,000,000 3,000
402 RIZFX20l A 14,000 14,000 0
01 U2 E2AILE X (KA 14,000 14,000 0
OsHEAHXI S ANEMH(5T)
70,000,000 *20% 14,000
HRAele 4EX 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
02 M AHEE 8,000 0 8,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O XtelE &EX& (46ha) 8,000,000& 8,000
HeESoH R 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 QIZtE M AHE X 20,000 20,000 0
ObigE S M s24X & (120 t)
16,000& = 1,250 4 20,000
OE - =2%4i sgE2ed s X 99,150 5,400 93,750
< 29,745
Al 69,405
402 RI2EX=20l A 99,150 5,400 93,750
< 29,745
Al 69,405
02 U2 TEALEZ(0IETHR) 99,150 5,400 93,750
Osg&2elll S X (600H) 99, 150,000& 99,150
< 29,745
Al 69,405
BASBEDNZFNZINES 45,500 45,410 90
= 45,500
301 et a3z 45,500 45,410 90
= 45,500
MIIEE4d3 45,500 45,410 90
ORASBHIBHIY 23 (5ha)
45,500,000& 45,500
= 45,500
EZMEH X 156 156 0
= 109
< 23
Al 24
307 21201 A 156 156 0
= 109
< 23
Al 24
02 QAFAANFEX 156 156 0
OELMEM X2 (1€) 156,000& 156
= 109
< 23
Al 24
EAsME SDIA 232,110 232,110 0
= 116,055
Al 116,055
307 gl2tol & 232,110 232,110 0
= 116,055
Al 116,055
02 It M AHE L 232,110 232,110 0
Oz edsitE stugAi 232,110,000& 232,110
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SH SAEMA MY
Bu: oM U3
el melol HOE BA (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s s=X& 9,660 14,000 A 4,340
< 1,932
Al 7,728
301 gt d= 9,660 14,000 A4,340
< 1,932
Al 7,728
1M1IIEESS 9,660 14,000 A 4,340
O=sgolXtdsx3(74) 9,660,000& 9,660
< 1,932
Al 7,728
s tHetatits A& 3,700 3,700 0
301 L2 A= 3,700 3,700 0
11IIEEAS 3,700 3,700 0
O=sgoXtd tHetstxt3a XX (50Y)
3,700,000& 3,700
SXOIELEHEAL X 4,624 4,624 0
J| 4,624
101 @124 dl 4,624 4,624 0
J| 4,624
04 JI1ZtHNZ22 s 4,624 4,624 0
OsXOISAEH & 22 ZAR 2248 (1Y
48) 4,624,000 4,624
J| 4,624
=g MolEE It XA 7,000 8,000 A 1,000
< 3,500
Al 3,500
307 2Iztol ™ 7,000 8,000 A 1,000
< 3,500
Al 3,500
02 It M AHE L 7,000 8,000 A1,000
O=s&H2MES I XA 7,000,000& 7,000
< 3,500
Al 3,500
SHE Al 243 11,000 11,000 0
201 L2l 11,000 11,000 0
01 At 22l 9,000 9,000 0
O=sS4= AN &Eal A 9,000, 000& 9,000
03 A2 S HI 2,000 2,000 0
Osd&2 el A 2,000,000& 2,000
SOt 2 & 7,654 0 7,654
= 2,296
Al 5,358
307 glz2tol & 7,654 0 7,654
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SN SYS MM
HE: sABWA 23
S9: SYsE JIBEY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,200
Al 2,800
307 glz2tol & 3,000 2,000 1,000
< 900
Al 2,100
02 IZHEHAHE X 3,000 2,000 1,000
OsZEXNEA 923 s 3,000,000& 3,000
= 900
Al 2,100
=I1EHZ2 X& 90,701 90,701 0
= 56,688
Al 34,013
307 glz2tol & 90,701 90,701 0
= 56,688
Al 34,013
02 HAFAAHEX 90,701 90,701 0
ORJINIEHIE XNA(1,057€) 90,701,000& 90,701
= 56,688
Al 34,013
MII=2SAME(EH SHEE 018 IHFEY oAl 16,000 16,000 0
)
< 6,000
Al 10,000
307 glz2+ol & 16,000 0 16,000
< 6,000
Al 10,000
02 QI2ZtE M AMHEE 16,000 0 16,000
OFAH SMEA 0|8 IIEEY MTAS (1A
) 16,000, 000& 16,000
< 6,000
Al 10,000
MII=2ESAS (H RSB WSE MAAY) 2,640 0 2,640
< 990
Al 1,650
307 glz2tol & 2,640 0 2,640
< 990
Al 1,650
02 IZtE A AMHEE 2,640 0 2,640
OH RLBX WS MA AT (1I0L)
2,640,000 2,640
< 990
Al 1,650
NII2s23 A (B JIC2IEMZ3 SHII=AIE) 4,800 0 4,800
< 1,800
Al 3,000
307 i+l & 4,800 0 4,800




SH SAEMA MY
Bu: oM U3
S SesE JIBEY (B9 ®R)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
< 1,800
Al 3,000
02 IZtE M AHEE 4,800 0 4,800
OH Jlttelg M =Z3a SHII=AIE(1HL)
4,800,000& 4,800
< 1,800
Al 3,000
SENME Jls23 11,480 13,600 A2,120
= 3,444
Al 8,036
201 LB-2E| 1,480 3,600 A2,120
[ 444
Al 1,036
01 At 22l 1,480 3,600 n2,120
Os&E0E MEFEX HMS(378)
1,480,000 1,480
& 444
Al 1,036
206 M= Hl 5,000 0 5,000
< 1,500
Al 3,500
01 =8l 5,000 0 5,000
OdElLdslstsas Matl 5,000,000& 5,000
< 1,500
Al 3,500
301 et A3z 5,000 0 5,000
< 1,500
Al 3,500
MIIEE43 5,000 0 5,000
MEIHNHESIS8ES Z2AE 5,000,000& 5,000
< 1,500
Al 3,500
s=2 22| 33,941 33,365 576
101 14 Hl 7,941 7,365 576
04 JIZHHZ2Z2XRHEE S 7,941 7,365 576
Osg& ?Hzel @ ZAMH AAHI(1€) 7,941
-Jlgs(4¢) 6,880,280 6,881
-Ixt =g (4Y) 263,360 264
-§222(42) 395,040 396
428 = (48) 400,000& 400
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
O=g8&8 2Hael Mzl 1,000,000& 1,000
401 AIEHI L 2 CHYI 25,000 25,000 0




2N
X ZH -
L= B

el

O O OF

=R R
QAW L3t
YEE J|BEY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 20,000 20,000 0
O=s+=2 FH| 20,000,000& 20,000
03 Al S THHI 5,000 5,000 0
Os=2 34| ZHgx= 5,000,000& 5,000
sJ|=d, sPllsdy NESRY d2s8ey 1,300 0 1,300
A&
= 650
Al 650
202 oddl 1,300 0 1,300
= 650
Al 650
01 SLHOYI 1,300 0 1,300
ONEZBPY AHNLUK(SHAUSUR)
800,000& 800
= 400
Al 400
ONEZSRd d2s8eg sl
500,000& 500
= 250
Al 250
S=2E sg2 AI2e4H =4 4,000 0 4,000
= 2,000
Al 2,000
206 = Hl 2,000 0 2,000
= 1,000
Al 1,000
01 MHZ 8l 2,000 0 2,000
OZ=E8 sgo a2 s4X&
2,000,000& 2,000
= 1,000
Al 1,000
301 et a = 2,000 0 2,000
= 1,000
Al 1,000
09 &AL HI B A S 2,000 0 2,000
OE=2% =90 g7y FSA
2,000,000& 2,000
= 1,000
Al 1,000
S dolls ZHAY 6,000 5,000 1,000
< 1,800
Al 4,200
206 M= Hl 6,000 5,000 1,000
< 1,800
Al 4,200
01 =8l 6,000 5,000 1,000




2N sEFAAMD
HE: sABWA 23
ool SesE JIBEY (el @2)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O0=d0gd S s2803 2A0 A
6,000,000& 6,000
& 1,800
Al 4,200
SHE0F A EZBZAIAE X& 21,450 0 21,450
= 8,580
Al 12,870
402 BI2H X201 M 21,450 0 21,450
= 8,580
Al 12,870
02 QIZEXIEAISE X (0| XM THL) 21,450 0 21,450
ORI EZAIAE XI&(0.3ha) 21,450,000 21,450
= 8,580
Al 12,870
= Et&= MO K& 10,200 0 10,200
= 8,160
& 612
Al 1,428
301 et A= 10,200 0 10,200
= 8,160
& 612
Al 1,428
11 J|EtE A2 10,200 0 10,200
O= EtZZ2 THH X (3ha) 10,200,000& 10,200
= 8,160
= 612
Al 1,428
ANEJ0 U3 X3 75,900 0 75,900
= 30,360
Al 45,540
402 SI2vXHE0| ™ 75,900 0 75,900
= 30,360
Al 45,540
02 QIZXIE A E X (0| XM THLH) 75,900 0 75,900
QF3lgs AMx=smM2E=S 24 (1sD})
75,900,000 75,900
= 30,360
Al 45,540
SASMAL L SEINM 82,149 100,547 A 18,398
= 13,398
Al 68,751
SIRLHAES ALY 2,486 1,170 1,316
= 1,243
Al 1,243
301 Let2 &3 2,486 1,170 1,316
& 1,243
Al 1,243




SN SYS MM
HE: sABWA 23
SRl BASMN U RSHA (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NJIEEd=s 2,486 1,170 1,316
OZJIIst2HE ALY (2855 ) 2,486,000 2,486
= 1,243
Al 1,243
RArZHAAS 1,510 2,200 A 690
< 755
Al 755
301 et a3z 1,510 2,200 A 690
< 755
Al 755
MIIEE4d3 1,510 2,200 A 690
RAAMH 251 (270%F) 1,510,000& 1,510
< 755
Al 755
s=2s2c 40,153 31,177 8,976
101 @124l 40,153 31,177 8,976
04 JIZHHZ22XRHESE+ 40,153 31,177 8,976
OZngol =28 2 s27X AR (2Y) 40,153
-Jl2g=(8g) 37,971,120& 37,972
-Ixt=g(8Y) 1,453,440& 1,454
-§222(42) 726,720 27
qllsS2s2el 38,000 66,000 A 28,000
< 11,400
Al 26,600
301 et a3z 38,000 66,000 A 28,000
< 11,400
Al 26,600
MIIEBE4d3 38,000 66,000 228,000
RIlss2522(400F) 38,000,000& 38,000
< 11,400
Al 26,600
=M= JlgtErE 569,052 350,202 218,850
= 54,300
< 115,295
Al 399,457
DALMY 20,000 10,000 10,000
402 RI2FXt20| ™ 20,000 10,000 10,000
01 212t 2 A B (RERTH ) 20,000 10,000 10,000
OREHAA (1250H)  250,000& *2005 *40% 20,000
S dHAY 18,180 18,180 0
402 2I2H X201 M 18,180 18,180 0
01 2I2E 2 A B (KR ) 18,180 18,180 0
OdHA 18,180




2N
X ZH -
L= B

el

SE LMD
SRR
IEAS Dlrets

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-550,000& *7= It 12 *30% 13,860, 000& 13,860
—200,000& *6= It 122 *30% 4,320,000 4,320
S4s) Ol8=H X & 20,000 22,000 A 2,000
402 RI2EX20| ™ 20,000 22,000 A 2,000
01 2I2F 2 A E = (KM ) 20,000 22,000 A 2,000
O=ats0t OIMEH X2 (280t7)
20,000,000& 20,000
IMNSHAS AFLlXIHZE X3 (EAE MADIE & 35,640 0 35,640
=)
= 11,880
< 7,128
Al 16,632
402 RI2EX=201 A 35,640 0 35,640
= 11,880
< 7,128
Al 16,632
02 LA THEALEZ(0IETHR) 35,640 0 35,640
OZAIZMAE ALl XM E258 XI& (660
) 35,640,000& 35,640
= 11,880
< 7,128
Al 16,632
s sS4zl &4 XN 15,000 0 15,000
= 7,500
Al 7,500
402 RI2EA=20| A 15,000 0 15,000
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